ts

F rui

& @

-
-

nu_ <

_ _

a_ _ \@

! |/ ‘

_ I

B @ a )

OO HZ O WL >SS0 >0 >uL.u
S WO Z <aaO0Obaw<aom«T
O 2 3 o0 0D wWwowaoaoad>Oa
S O >ad o wWwo U< a9ma O
a D ZNF <a VUV uwe v uw oo o
20 ©0ZOUVUDDFKS3wauw<
a I 2T <90 aa>2Z < 2T a
WwHZwouw-<CXI<aoavHaOw
> < Z0w3=TagrOaaaZuw
0o o Z wo o waoduwOwHWa
S DO w <o < >DWSOU>DO
F 0o ¢ W aoaolklk Z HAF Z 0 H H
>a <N I aa a2 <0<k a3k
> > X =T HOUDaDkFIFS3O >
>S ¢ I O < Wa<=EwoOwaZo

«»

_

_

_

_

=




Q+++H+ERIOEPOQEIDD+
W+ O0sSHHA+BPEAOQ+ + P+ K
PHEPAEAM+PEHOPER®O+ D+
WHHOZHAHZ+wWwoO@EW+ A
NOYEHHHBO+YHDPWMEHZWW
+MZ2O9W+HIPIRITQ0ZPK
+HMOMH+IPPEHOAZH+
+ O RPI2LK+WR2OHPR+N
+PE+ME+HA+NN00Z20+0+
+WHH+ 0O+ ++PA+Z+W
+QomwEPPORODEDHYL+ +

+
U
R
E
A
B
A
.l.
E
M
G
C
A"/
U
E

solution for the

2

+vaoOaKXdIOITEHEEEQE T+ + + Q_

P+ HODPEHOU+ORDMPZ20HS

ol

++H++++++mazHao U)

APPLE (14,15, NW)
APRICOT (9,12, W)
BANANA (6,1, SE)
BLACKBERRY (12,12, N)
BLUEBERRY (13,4, 8)
CHERRY (2, 6,NE)
COCONUT (10, 7, NW)
FIG(15,13,W)
GRAPEFRUIT (12,14, W)
GRAPES (1,15,E)
LEMON (11,13, W)
LIME (3,8, SE)
MELON (7,7 ,NE)

OLIVE (2,13,E)
ORANGE (14,7,N)
PEACH (1,7,N)
PEAR (14,9,S)
PINEAPPLE (9,1, SW)
PLUM (4,5, SW)
POMEGRANATE (11,1, SW)
QUINCE (15,1, S)
RASPBERRY (1,2, SE)
STRAWBERRY (11,10, NW)
TANGERINE (2,11,E)
TOMATO (11,5, SW)
WATERMELON (2,12 ,NE)
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